REAR JACKS MOUNTING - SPRINTER CHASSIS
INSTRUCTION SHEET
AP52759 KIT

(a)BOLT 3/8" x 2"
 — - ——2.750" %% — =—2.750" %%
i MOUNTING CLIP

Vs

: 3/8" FLAT WASHER

(d) 3/18" LOCK NUT — )
O ™ B .
* % * %

BOLT 7/16" x 2.25"
:— @f@
7/16" LOCK WASHER
: @—J **xNOTE: THE MOUNTING CLIP WILL NEED @

09

TO BE ROTATED 180 DEG. FROM 2.750"
BRACKET GROOVE

FRAME TO 2.400" FRAME.
' *® '

(h) BRACKET BARREL (SHORT TIE ROD) (SHORT TIE ROD)
' ‘ | |
oLt e s E — o g ? | @ g
8—@: é SEE MI15.4751E FOR é O

©

]
®
[ ]

O

i BRACKET GROOVE i CROSSTIE INSTALLATION 4 T
DRIVERS SIDE - BACK DRIVERS SIDE - BACK

(k) NUT 7/16" WHIZ MOUNTED OUTBOARD MOUNTED INBOARD

I£
:NUT 3/8" WHIZ
It

é BOLT 3/8" x 4.5"

@MOUNTING CLIP

s @ ||

(0)WASHER 3/4" OD I 7-
1/4" THICK MOUNTING )

@ D \ /<J

L

@)

BRACKET —— FRAME CUT AWAY
TO SHOW MOUNTING CLIP
MR R

—

BRACKETS MUST BE MOUNTED BOTH OUTBOARD OR BOTH INBOARD OF THE FRAME.
BRACKETS CAN BE LOCATED JUST BEFORE, WITHIN THE SPACE OF (AS SEEN ABOVE) OR JUST AFTER THE FRAME BEND.

¥ BRACKETS ARE DIAMETER SPECIFIC. THE SMALLER DIAMETER MUST BE USED IN A GROOVE. MI115.4751D
THE LARGER DIAMETER MUST BE USED AROUND THE BARREL. 14DEC17





